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3 BTAT

1. Cgemeus smsSamen/Comeauuliencn elend g
A) eunnuEb [enE
B) aummi@b eAmuub
C) Cegusgib S .
D) eumu@b #6HCWIEH saqw peme wHEND eNHLLID.
Demand can be defined as
A)  Desire to buy
B) © Willignness to buy
C}  Ability to pay .
D)  Desire and willingness to buy backed by adequate purchasing power.

2. Gsemas Carigemen Qup £y @,lﬁlULS]L.ULJl_(aﬂTW Signonenusatlied
( Suvevg ) st Caneraafley 61g wIHIE ?

A) e @u usmLgden eflemey  B)  maiCeunfelr aumeumds

C) sawemisd D) Qeves smansgb.

Which of the following is assumed constant in the derivation of demand curve ?
A) Prices of substitutes B) Income of i;he consumers

C) Tastes D) Al of these.

3. e@g:&aéaﬂr’u. euenTUL b s16ng s Hdpg /dlmaging ?

vl b Y

D,

O | ussoTL D X
A) Czemen Gewpay g Caemen dlafitiy
B) égmsu alfleungsn veng Comea sgpdad
.0 () wpgid (B) Bren@n
‘ b) _Gﬁ&mm B aQuwiey/Cameaiulley wrhmib.
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Which ‘of the following is shown in the figure ?

Commodity y

Q Commodity x
A) A fall or rise in demarid_

B}  An extension-and contraction of demand

C) Both (A) and (B)

D) A shift .in demand.

b aueHs sméhun@ Ggmm@,r_r,&lgpééluﬁ&mm semsdl o seyflenmg ?
Caemeuulied q%u@éﬁldﬂg &gaﬁg LMQ mb

A) . ghaamGey e_dren Ggeney

Comauiies apuBHenn afs wIHOID
B “SAweds apuGEem sﬂi mnﬁ);%b_ﬂ

eflemeouliled 1rHDIb
Coemeuutled wrhHmib

C)

D) @eubmer ergia blevemso.

What is the formula to calculate elasticity of demand ?

% change indemand

A) =
original demand
B) Eropdrtionate change indemand
proportionate change inprice
') _changeinprice
change indemand
D) none of these.
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5 STAT
5. Gameu Clpdlpsdls sppdlamen nﬂﬂmu®§§lmmﬁ
A) S B) Guefi AdsriGLn
C) T.R. wrooged D) J.Qupgb.
The cor\:cep:t;; of elasticity of demand was evolved by
A)  Mill Jg B} David Ricardo
© TR Malthus D) J.Bentham.
6. &Gy ggﬁlﬂ@t@drmm;bgﬂsb sbg spm efwreng ?
A)  eu@meumis - Gpsmm&@;n@ cueLiL&sions smubs SHDLEGS®
B) . aumans - Camaslai® aunuussws enutg Cuwadlpré Cedguph.
€) auman - GomeasCan CQomGsg G&m.n@n.b.
D) . ‘@m;ij"@m gy Hereney.
Which of t};e following statements is correct ?
A) Iﬁcomé - Demand curve slopesaownward to the right
B} Inc:‘ome - Demand curve sldpes upward ﬁ) the right
C) Income - Demand curve is vertical
D) Noneof these.

7. euemguLgde A yerafller Come OpdpsAwneng:

o . - D,
) LSRTLD X

A g i giflaw B g sowngb

O  pEub D} Seuppd agieySsoame.
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A
%,

In the figure, at point A, the elasticity of demand is

D

good y

O ‘ D 1
' good x
A) greater than one B) equal toone
C)  equal to zero _ D} none of these,

8. @opbsl Cse Bndflener uwstum_ G 84 Quu@ﬁgmg/@awmu(ﬁ\mg

A) wHEHE glqm{nmnmmﬂ B)  Si€pFOSmMED Coafuiueui

Cy  deflwnr prshsr flwref D) @eumhpet sgiabcmey.
Law of diminishing marginal utility applies to | |
A) drunkards B) _stamp coIlectqrs
~C)  a fan of cine artists D). none of these.
9. meiGeunt mpunestnenwullenet efl(mbLIngeulssr
A} euesflacundlssn |
B) CeangeSeivl /swgiweundlse
O wseneisgiasen
D) Qgneitenwols Qunmenngny syfflehisenr.
Consumer sovereignty is undesirable according to
A} Mercantilists o B) Sociaﬁsts

C) Capitalists D)  Classical economists.
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10. s @mfHamers vwenun_ @ elFllenen eSens@Geug
A) MUy /Py >MU, [Py >..... >MU, /P, '
B) MUy /Px<MU, /B, <...<MU, /P,
C} MUy [Px =MUy [Py =.... MU, /P,
D) Py /MUy =P, fMU, <..... B, /MU, .
Law of equi-marginal utility states that
A) MU, /Py>MUy /P, >...> MU, /P,
B MUy /Pc<MUy /P, <....<MU, /B,
C MUy/Px=MUy/PB =...MU, [P,
D} P,/MU,=P, /MUy <....P,/MU,.
11. #wulEprs@ caumamGasrn _GLr@ GFrfisnLweuisen/Benewrhgishemeulisen

L eniggCeunis

I Sensi

. GuyGon

V. aflseh.
Bsuppysir :
A} 1& I sflwreneney B) 1l &IV shhwreneneu
C- L1, BI & IV sflusnrsoremsu D) I, 1 & IV eflwneneneu.

Indifference curves are associated with
I. Edgeworth

II. Fisher
Ill. Parclo
' IV. Hicks.
Of these : ‘
A) 1 & II arc correct B) 11 &IV are correct
C) I, II, I & IV are correct D) I, Il & IV are correct.

12. FulpisE susnanGanm &Uﬁuaﬂnug/ GHiuug)
A} [ET6bIe 6tETL g6t
B) Qran® ushi_risenEs &eHmene
C) @rean® usm_ruser LG
D) @ren® uai_risehéE Sidswns/ BegSuns.
Indifference curve represents
A} | Four commodities ‘ B} Less thah two commeodities

C) Only ‘two commodities D) More than two commodities.

[3004] | Turn over
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13. swCpn&E aummGsri(® amiulgdlen ppood, abs Caned wearfleneme

Qaruug ?

Y

Q

i

a

O LIEBATL_LD X
A) A>B B>CgemirA*C B) C>B,B>Agemed C*A
Cy A>B>C _ D) C>B>A

*
Considering the IC map, the satisfaction derived from the combination is
v _

=}

8»

<

0 Good X
Al A>B B>CbutA» C Bl C>B B>AbutC»4
C) A>B>C ‘ D} C>B>A.

14. Boan® usn ast Heopeuner uBedra BmaGnbounups

A MRSy, sifefsgb B) MRSy, @®puid

C) MRSyy wipny D) @eumhpgyer crg;mlﬂebms\).
When two goods are perfect sulbstitute.s .

A) MRSy will be increasing B) MRSy, will be decreasing
C) MRSy will be constant - D) none of these.
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15. @m msiCaurt C whmb D ysrefllsr swflamauiled Recmmnogn Bmsseonb.

GJQ;ursBrmnd)

A

e

-9

J

%

|

O
A) | MRSy, + Py /P
B)  eumeumi ppeugih GlFeueliiL UL eRevened )
C C wppd D yeraflules Gupblandidlesn ClsaeliCeobu sizmenali

E sienm yenefufiev wi. @b oips ey wenlenpeliensn Cupsiesmnk

D)

cumeumil Gurdlu sieney o dreng.

A consumer may not 3(: in equilibrium at points C and D because

A)
B)
Q) .

D)

IC,
IC,

Commodity Y

IC,
D

<
o Commodity Z B

MRSy, » Py /Iy

the whole income is not spent

point E gives higher level of satisfaction with the same expen’difure as in
points Cand D

of sufficiency of income.
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PCC Can(® u@senas Cosrne BmsGwourups, dleaeas GCamea Cpdlpsd

16.

.................... B(ms b

A) GDsE FLIE B} . geimi&@ GHemmeuns

Q) g,g.u.:mna, ' | ' D) qemisE JNdswns.

\When PCCisa horizontal straight line, the price elas_ticity of demand is

A}  equal toone B) less than one

C) equal to zero D}  greater than one.
17, psiGeuni Coemeus Caniqonew ........cc....... ppeVLD ng_r)suir!.b.

Aj ICC Gar(® B) egpger Can®

C) - PCC Qan(p D) Beaupmyst ﬂg,jmlﬂsi)ms\;).

A consumer’s dema’nd curve can be derived from

A)  ICC curve ' . B) Engr;-ls‘curve

C). PCC curve - D} none of these.

- 18.  Quagmenngny Lﬂnééiimsﬁ speugl LS ?

A)  dfmuuisst ersimemfleonisngene

B) efimpuumssmer flenpey G\&d.nmg_,;b@. suentygen Qungnseno

C)  euemiumen LIs0AISHSH LWGTLNL enL Gl& et sney

D) @eneu &msﬁﬁ@ﬂ:. | |

Economic problem arises when

A) wants are unlimited

B) means to achieve wants are limited

C) means have alternative uses

D) all of these.
19.  uwebtun(p steiug)

A) e.ereflwed amSHI B) Bl smss

C) ypueuNmer BHSS! . D) sGHmes smssl
| |
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21.

22,

11 ' STAT'

Utility is- -

A) a subjective concept B) & moral concept
C) an #ijectxve concept D) . aneutral concept

Frnefll) LU B4 smsSlemen o_ewrisgioug!
Qm_négu UwerLInL. (B D0 (&S
A) s imafien steusTEuH] 'é'lmi'&__

Clworgsi Lwerun(

< B @asfw&l CIoi%; 6TTL_TIGET6 DIe0@EeN

Qmaﬁgu Uweunip — @mﬂ;ﬂmmu L EC)
C # umumammm\mmﬁggd)

D) @@ﬁ@mmu pwerun(® x ustim_rﬂamﬂsh orstmesfl&ens.

Average 1_,1‘t111ty stands for

A Totdl utilities
: No.‘:pf commodities
B) © Total utility
No.of units consumed
Q) ; TU-MU
: Qué’i‘n tity purchased
D} MU X < Q.

gg;dsatr@jlb abg 8, NssmGLrelien mmr&Ga,rrL_urrL.uq,;b@ am.uuml_u.ms
.gqsmo&lmgr ?

LA) @@mﬁg Qged efenenay B Bl eanipg Qe slanearey ofid)

<) mrfm;n,s Aensne; A4 | D) S JmaSgIh.

Which of the following laws constitutes the basis of Ricardian theory of rent ? -
A) Lavt; of dlmu-nshmg returns B)A Law of increasihg' returns

C) Law of constant returns . 7 D)  All of these.

ﬁl@uu@p{pm Caameaulan® aemimg (psedied snluieui
A)  Gggrew prifishosh . B) ume wefldl
O opfivi wringe ‘D) Ggg. enb. eineh.
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Who propounded the kinked demand curve for the first time ?
A) Joan Robinson B) Paul Sweezy
C)  Alfred Marshall D) J. M. Keynes.

23. e.apdgb aisssdafist o amewvwren  Qummemngrr  flevevenw .
Sigfluedé @b Fned . '

A} o_ehenw Sned | . B Quwreteys saed
O ©oppsuULLEs sasld ’ D) Baupmish agieybleransn.
Which of the following wages reflects the true economic condition of the labour
class ? “ '
A) Real wages B) Nominal wages
C) Minimum wages D) None of these.

24. peflen eunraGarunen L@mns&lmmﬁ
A)  gedliirl wriage B) Gggreétr ynfsracn
C) @. ais. Cobuiteden . D) Grefl AasriGun.

Modern theory of rent has been propdunded by

A) Alfred Marshall B) Joan Robinson.
C) E. H. Chamberlin D) David Ricardo.
25, dpsargnb GQun@memgrraundlacficd, sLer AF alnaECariurien
- e (meunsEluwieud
A) Gapsnssin : B aflse
C) pL 4056 D) @kelinu Nagi.
Ainon-g the following economists, who propounded the Loanable fund theory of
interest ?
A} Hansen B) Hicks
C) Knut Wicksell D)  Irving Fisher.

26. GQzneneno .mﬁ)@jlb' Lemerflen el 1y &Can_urPamer Denenrdg L (heunssliuL L
Carun® ' '

A} sLshd g Cam_urp
B) mefewr eulin&Gam_un®
C) Phremw AmUL auligs Camun®
D) Beuppen egaidarans.
(3004] |
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.A synthesis between classical and Keynes’ theories of interest has been made by
A) Loanable fund theory of interest

-B)  Modern theory of interest
C). Liquidity preference theory of intel;est
D) None of these.

27. @m &ngé@' Hle (pefwwreng)

A)  sfe dpsnu@henn Qunmenr
B} eum@Geaunt mpmpie eSbhGunt
Q) on@Lo

D) Bemeu semenpgiib.

The e;sential[s) of a market is/are
A)  commoedity which is dealt with

-B)  the existence of buyers and sellers
C) aplace
D) all of these.

28. Bremwo Qund) gHub Bemeoulisr Lem giefluy sifafiny

A) sty lgseng GmnEHED B) | aliy igseng sHaR&@b
Q)  aily dssms undésns D) @eaubpc sgapflsoame.
Liquid{ty trap is a stage where increase in money supply will
A)  reduce the interest rate B) increase the interest rate

""C) not affect the interest rate D) none of these.

29. Zpsremuanpet afle, shwg Csmauslar® gm sofl Dpuen spazs
CaamausCan._ L6 g6l senwujd ? |

A)  femeyu Cumiig B) Heop eon Cuniy
C) deor pomfenw | D) whHufenw.

: - [1301] [ Turn over
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" In which of the following cases does the market demand gurve. coincide with a
single firm’s demand curve ?

A)  Perfect competition . B)  Monopolistic competition *
C) Oligopoly - ° D)  Monopoly.
30. edlemenurl® Canlur@® s | sgempuiley eeten  HAsssmen  Sida
pupisdpg ? : |
A BepenGuriyg ‘ B) . (pphmiflemw
Q) fRoairpbpfsw D) &eol (ya;b@tﬂmm.
Game theory is attempted to solve the problems in
A) perfect competition : B) ' monopoly -
C) duopoly o : i:)) oligopoly.
31.. @mepe Hpflenw sterug FHMFGUID ......c.covvvnevee wL B Semuiug.

A) e slpuenemunemi
B) fuanl sﬂ;bummuiasrri’rasm
C) em mmﬁ@um_fr @wm edlhusnearneni
D) fran® eurdi@ueuiser.
Bilateral monopoly is v
A) where there is one seller in the market
B}  where there are two seilers in tﬁe markeét .
C)  where there is one seller and one buyer in the market
D)  where there are two buyérs in the rlnarket; |
32.. Fleowd o stmemiowinse wHDID a@&m(gplq.u.ing SpHoeme GlubmieTangns snffweut
A}  TiagE _ ‘ B} MasniGen |
C)  gleunsineiv D) iz,
Whp described the Iand as the original and indestructible bowe;s of the soil ?
A) Marshall E - B) Ricardo
C} . Jevons L : l\-))' Malthus.

|



_ 15 | STAT
33. _eﬂs\zrl'r whpifeowliey Amuuwppp Comastarh e cmisgioug
A Gaemes Peneoggsiienio B sy Hmegserenn
‘o eflsnes Pevesssents D) eumeumis Heneogsenento.

Kinky oligopolistic demand durve signifies

A) ' demand rigidity B}  supply rigidity
C) price rigidity D) income rigidity.
34.‘ el B eSlemeney el A T_iyenLwg
A)  epfwuste e pusdl eriy B few s e pusd sy
C) (A} vpmid (B) Becdor®ib D) Beuppier siginblsoenso,
The law of returns to scale relates to
A) short-term productioﬁ function | B} long-term production function
C) both (A} & (B) D) none of thése.
35. elenetey cﬂﬁuﬂeﬁ e_een Hencvashen asnenllsens
A) Boan® B} epemy
C) mrehig D} . mbgi
Number of stages in the law of returns is
A]  two \ B) three
C) four " D) five.

36. &w le._;bugﬁ umaCaninehn SMLLIMSDS jﬂﬂmﬂﬂug;

Al Bodflenes Lwetun
B) @unfHens uﬂs&‘.@ eSg b
Cl . Bmfhee Qgnfldopu uflef (b Szd
Di Budbiflerer wapry elgw.

The slope of the isoqﬁaht is determined by

| A) marginal utility

_B) . marginal rate of substitution
C) marginal rate of teghnical substitution -

D)  marginal rate of transformation.

(Soo4] | [ Tum over
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37. sv epusd ammGsriGUu uL_§Sd manmuuu@th eumbys Gsmliget
( AL g Camine® ) gm eHusd seeilen HmHHemed Lmugguﬁldn wHiiy

A)  pRWD B) gap
C) Boew® - D} - ppengy.
In the ridge lines drawn in the isoquant map, the marginal product of one of the
factors is
A)  zero o B) one
- C  two ' D) three.

38. gwn Ppaend 2 pusd smeafisgpession Cwrsy Csvma Sifafssnd, sv

Qseeay Csn

A Sgypd wrppiL@od

B) eueogymb wippuuh

C) Gupargnd Dyen@b penLGup sunbliy e aw®
D} wrprg.

When the total outlay which the firm wants to spend on the factors increases,
the isocost line will '

A)  shift to the left
B) shift to the right
C) both of these are possible
D) not shift.
39. @@ﬂ;ﬂa;wd e pusd) Hpdn Can.un® BCanenns GararHeramg
A) Qun@dwm ghengulled HenpeyiCum_ig |
B) swerfia speamsulles HempaynCumiy
C) Qunmehaer whHpIb sryeflad spmguied HlenneytiGumiig,
D) | Heopeepn Cuniy,.
Marginal productivity theory of distribution assumes
A) perfect competition in product market
B)- perfect competition in the factor market
Cj perfect competition both in the product and factor markets
D)  imperfect competition.

'
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40. @lmhs;@“ o pusd smwenfllasr gapstansy Hopey uflednemennd,
Bratmgh@opaen @pififlenes Qgnfleop v udlef G efdzb
A sifsfseb B} @pub
C) wipmnoed PmeEb D) Qupasin_ agieyb Hspeonb.

If Atwo factors of production are perfect substitute to each other, then MRTS
between the two

- A)  increases : | ' B) decreases
C) remains constant | " D).. all of these.

41. amﬁl&)su arey Qewagdiie. Qumsdurarg Secumaaauppier Gandien
aﬁiﬂé:;r&gzb senenweniu s HEDE
A) .um&Qarrsirma | B) sufl& Gershens
C  Héls Gansens D) Qeahpueh agaSidane.
The balanced budget muitiplier is used to show an expansionist’s
A) - monetary policy B) tax pcflicy
C) d fiscal poiicy | D) none of these,
42, pHw euenfls GumeHuleh gy Suwrrerg)

A)  appivd Qupad B @néseud Qumsd
. C) - p5eiD Clu@mnsd D) - Ceusmeors Qumsd.

The foreign trade multiplier is otherwise called as '

A) export mulﬁplier B)  import multiplier

C)  investment multiplier D). employment multiplier.

43. Caimelsemolien Quag dbmeandl  gphste ssmen  Daung

S|V P&SELD
A} Qsevay o g U ef&sb Bl Capemen Gupiiy UW'Mm
c) SiMTEGmD Uewr efda D} iflg Sgrfu Lemr elldmid.

* The rise in price level during unemployment situation is called
A}  cost push inflation B) = demand pull inflation

C) semi-inflation D}  hyperinflation.

| [Turn over =
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44, “uewr eldswreng eruCungib, ariEl g ussSen Blawey” emy sngweuit
A} debreiv : B)  aprenesy
C)  yemuwsin . : D) JIf Glwetr,
To whom “inflation is always and everywhere a monetalry phenomenon” ?
A) Keynes . B} Hansen
C) Brooman D} Friedman.
45.  uew dlsaw 3 spdssdldE Gmpuns Dombsre, Sig
A) pL&EWL v eS&s B) eegpbd uwr e8ésib
C) b uentelssb D) Wdzbegrfu uenr e,
" An inflation of less than 3 per cent is |
A)  walking inflation B) creeping inflation
C)  running inflation D) galloping inflation.

46. Cgemeu OAMH I vemelss  Gamiun® Setr @Bl C_Henemeu(mL—sir

- QFm_fyemL W]
A) am‘te\)sfo HEOL61V B}  gpuehenein
C) sviflg o D) CuaBeoul.

Demand shift theory of inflation is associated with
A) Charles Schultz B) -Johnson
Q) Smith | | D) Machlap.
47. “fs Qeuluwnged” stsituge Clunmefiwer e ereflm
A)  Quagemngny efipsd B) Qunmenngry wisElened
C) uewelss Hlene D) BSLd fleneo.
The economic implication of ‘overheating’ is
A)  deflation ‘ B) depression
C) inlﬂation D) recovery.



48.

49,

50. .

51.

19 STAT

Qareien Qurmeflued gyflepiath LemaisasfbE @&ﬂ@mnm SapewTONa
s@Hwg)

A) @Iélas' uemT geflly B) oidls uewg Coemeu

Cl, Sidls aumermi | D} méls Qesveysen.

Classicals considered that inflation is due to

A} excess of' money supply B) excess demand for money

C) excess of income D) excess of expenditure.
Lewtelss B Gleuell Gl sreugdled Sletreum@mpanpuiied Bds i eomd
A)  seflunt pgeSien @empuugsh apeod |

B) Guigé Ceeveneu @GmpLiLigen @6\;&)

Q) @&\ﬂamu SHSLLDSSIeuGH ppevLd

D) epusfeow sflauuGsgiasstt apew.

Inflationary gap can be wiped out in the short-run by

A) reducing private investment

- B) reducing public expenditure

C) increasing savings

D}  increasing output.

Cedva o by uaelsagmg Vsnau@mong Simpssenid

A} Sieowliy (Pep Liswreldsid B) yfuw uewelssd

C) Sops vemelésd D) a@ﬁgﬂu;c_l_ ustreSdaib.
Cost-push inflation is called as ‘

A)  structural inflation B) new inflation

C)  open inflation D) suppressed inflation.

Qsva-e hg uemelsssdh@ SwluenL srremwrsBlBLLEG, Uemrd
sneSlwnenigy Sleieumeusteupenp sm_igeib s ifswremgrs gflsfuug

A) o siemins Gnedl B)  uewT eu(peumi

O wesmsdn epusdsSpa D) eepuiden e pusBpe.

3004 ] ' - [ Turn over
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' The basic cause of cost-push inflation is the rise in money wages more rapidly .

than
A) real wages B)  money income
Q) productivity of capital ~ D)  productivity of labour.
52. deoit ppmuftepwreni sonu aumbenu Siflefa@w Cuig Bhsé Clewd bl
Yy auemi. U
A)  Ggemeu oy uemelssid B) -Qseey e b ueeldsd
Cl e@ssiulL uemeisad D) #dois uemelssib. -

When oligopolists raise their profit margins it will result in
A) .demand-pull inflationA B) cost-push inflation
C) suppressed inflation D) open inflation. |
53. Semwuyeri ustnelsadSleh eurevorib
A) il oML eumby B) ofle vemwr gaflin.
C} Sifla CungFtlesvey D) yefliy Qgﬂ@#ﬁuﬂﬁmmam.'
The structural inflation is caused by |
A) Higher profit margins B) . Increased money supply
C) Increased public expenditure D)  Supply inelasticities.

54. & uemsblandiens wpph EfleCsrtmasme maswnaE® uamalsssms
GOD&ES (PHUL-Moed Bmbared Biflensanw Reicung ienpéseomnd

A) sl@uubBssuulL uewelsath
B) Simwuysni uenrelsasid

C)  dopbs uemelssbd

D) GCgeneu wrpmy uewiclseibd.

When the government is not using fiscal and monetary tools to combat inflation,

itis
A) suppressed inflation B)  structural inflation -

C) open inflation D} demand-shift inflation.
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55. zﬂaﬂuei‘u sumemGaninerg  Slsireubeusaunafles G?gm_l’rq ‘ufivrHDEeng
cﬁ\mé,@&lg)gu

A) Gq.amsou&\s&smm WHDID DTG Si6Tey
B) Qémwu&ls&rm‘m whHpith Ut e
C) Q‘d;.‘:mwu‘ilehmm wnpib Qsnfleoraflsaflen e Husd Sper
D) Gﬁ:mwuﬁlmmm wHPIb e CFrens.
The Phi.llfips curve depicts the trade-off between
A) u;‘@employment and pollution
B) unemployment énd money wages
Q) u_n;employment and productivity of labour
D) uﬁempioyment and population.
' 56. -Ggas é}‘{&mb asguemLw Qgn@uy ?
A Gabad, Lemeum L b B) Ggaib, usm whgHme
C) ;;Géebmb. Leow Setranent_ey D} Ggésb, uswelsa. 7‘
Stagﬂa}:i;&:m is the combination of |
A)  Stagnation and deflation B) Stagnation and depression
Q9 - S.t.‘agnation and recession D) Stagnation and inflation.
- 57. sunawﬂu &wg}&uﬁlsﬁ 40 mngnh&m P SHmbsre> Beveuny ampdsaswmb
A) asi_tq.l_ spHdé B} (&evpL.ev sphd
o asmn shd D)  Eméu drden spnd.
The busmess cycle of 40 months duration is called
A) _Building cycle B}  Kuznet's cycle
‘ C) Jugler cycle | D) Short Kitchin cycle.
58. euncwfls sippdl 50 L mise ;Bqﬁﬁ@;ﬁgﬂsb Sieng Beuaungy sienpdhseomb
A) @fiup_‘,n'.aﬁ g é . B} Qsnehrgrrges siphHd
Q) ﬁsthm_ m&soit spnd) D) ésc_tq.L_ma.ssh spnHd.

| . [ Turn over
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Business cycles of 50 years duration is called
A) Kuznet’s cycle - B) Kondratieff cycle
C) Long Jugler cycle D}  Building cycle.
59. uew whg Hlemeoulistr Cungy

| A) ey Bbl&Ems. Eleveylb
B} metr pbllsens leveyd
C)  Qun@entsy BL.eugsmsstt e gifls Blameullsd BméEh
D) Beubmist agieesns. '

During depression

A) pessimism prevails
B) optimism prevails
C) economic activities are at the high level

D)  none of these.

60. uemr whg Hemeoullstr Cungy seflwni WseS_newg

A) Qeusfleugng ' B) sidawrs BmeEn

¢ wHBwwrs @@&@fm D) Beuppien sigiabledensy.
During depression, private investment is

A) shy " B) high

C} zero : D} none of thesé.

61. Zeneleyr Cam Lnpeirig sunenfls sphdl Gambpienose sryewmd
A)  Bpifime wesar sysssdnen
B) yssrésw
C) eamdlsseaflen yfafiy
D} Rubhens snjemrmiser.
According to Keynesian theory, the trade cyéle is caused by
| A) marginal efficiency of capital
B) innovations
C) expansion of bank credit

D) " natural factors.

|
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62. afi&siv © eunemfls &pHd Y WEL (O
SiguuenLwinss Csnetor_g)

LN CYCLEY
B) - Qu@e‘mﬂ
S CYOT LG

D) Qumsdl-pH&dl gnl HiF Cewdrun(.

Hicks tﬁéory of trade cycle is based on
A) Accelerator B)

~C)  Overinvestment D)

S ireu(meusereumdmyieh

Multiplier

STAT

QeNemD

Multiplier-Accelerator interaction.

63. H&Gancosiv sl anenfla spnHd GCariur® eurenfles sPHd gbHoS
Frpajeer Carenmicughane anfemb s1en ellens@eugl

A B wseSh
B) iSsréeEd

) @&@ﬂmw s 2ybasSlmes

D) efiCpragn GCallOns@d (peeSuhEh ear @mLGleuefl.

Nicholas Kaldor theory of trade cycle explains that cyclical fluctuations are

caused by
A) overinvestment
B) innpvations

C)  marginal efficiency of capital

D) difference between ex ante savings and investment.

64. eunerfla syphAwneng
CK . _
A) GCsduuOYrssenen B)
C)  uskwenn_(Hu Siysseanen D)

Trade cycle is a/an

A) National problem B)
C) Intefnational problem D)
| |

wederL_evlt NrEsemen

Beupmiet aigiajlsdeney.

Regional problem

None of these.

[ Turn over
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65. @@ QuIBSIZTEHO Corgs Caiw o HusHmus sansdBauds Seramb
g genp Cersatu@adlomen ?

A
-
<

D)

aufelfluthE phmgw smellas whnib eerdwkiser
Caibnel Ligse '
wenm(ps euflssr

wrevflwnisef.

Which one of the following is not included in calculating gross national product
of an economy ? ‘

A)
B}
C)
D)

Wages and salaries before tax
Depreciation allowances
Indirect taxes

Subsidies.

66. a&mcﬁm LewTh 6T68TLIG)

"
B)
<)
D)

Caeney eneuliLaet
SIFENE URPRSIUGID ekl LeRTriSeT WHIID HIETTW kST
SN60 eMEU 1L SHET

wHSW eumdwned euphslu@b &ﬁ&lg LI 6T0T IR 61T

Fiat Money refers to

A)
B)
Q)
D)

demand deposits
bank notes and coins by the government
time deposits

currency notes issued by the central bank.

67. g He sEFeuninbs uswib ee HenpsstiubhEng ?

A)
B)
C)
D)

D75 LI6TUTLD
Caeneu emeutiLygen
Crnés Uy ehflgwn

suudlasflenr @enCuiujsiten emeuliysen,

Which is called ‘High powered money’ ?

A)
<)

[3604]

Government money B) Demand deposits

Cash reserve ratio D}  Inter-bank deposits.

'

AW
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]

68. uemrgSlen DD LTINLTRIG] 1ovveeirrinnsne Liewefl 4 &b.
A) . (P HetTenID B) Sredwrmb Blemeo
C) . epsimmd Hlemen D) pretramb fleneo.
Medium of exchangeis a ................o. function of money.
A) primary . _ B) secondary
C) tertiary D) fourth. |
69. uewrellwed Q&nmsﬁﬁmw B PODLUDSSIS! _
A) I | B) uemtellwed sy a;.ammhq
C) “ Ceoeun@aeligamri D) gefwri Qgnfied (penenGeunt.
Monetary policy refers to the policy of the
A)  Government . B)  Monetary authorities |
Cj Money lender D}  Private entrepreneur.

70. @bSwnefed Lo .gaérﬂﬂq B s ey sL_ HLUGSHUIUGEDS)
A) euefls cundlaen VB) eoHLW eurid)
C) ummEpLeTDL D)  euudl errr B4 Rpieusmnusen.
The money supply in India is controlied by
A} comme.rciaj banks
‘B) ‘the central bank
C) | the Parliament
D) . non-banking financial institutions.

71. @5@94:16196} @ epuml e SH0 matwpss BHWL BUF

A @idw gonSlud B)  Yrsw wiff

Cl Bf gemwder D) £4 sienwssfen Glaweor.
In India, One Rupee notes are signed by
A) the President of India
B) 'the Prime Minister
C) the Finance Minister

D}  .the Secretary of the Minister of Finance.

' : ' (1301} ' [ Turn over
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72.

73.

74.

75.

BiHw Nehe aumdulen GmpheuLs Famuyas

A)  fBeneownen Qenggisaen

B) phisb wHpid Sienefiu GFeonauenfl

C) | Shisib 101 (Hibd

D}  uenTru&si.

The RBI keeps a rninimum. amount of .reserve in the form of
A) fixed assets

B) gold'and foreign éxchange |

C) gold alone

D)  currency notes.

G euswlls o shmqwedsn wiays s

A) 24 wenflacr

Bl @® DG GmphauLewnns
C) 90 prisen
D) . 6 wrgruser.

A commercial bill has a.maturitly period of

A) 24 hours ' B) less than a week

C) 90 days | _D) six months.

curnd) 6 ..o sreomsmie SiHesNssuUBD. -

A)  uewrel&sb ' B)  uemeum’_Lib

C) Heveownen ellensusst D)  PeeowpHm efieneogen.

The bank rate is raised during

A)  inflation B) deflation

C) stable prices D}  uncertain prices.
Qurgieurs feiey eurktd .................. 5& (pEEwssIID Gﬁgpm@é]mgj.
A)  euenii&dl B}  elemev flemeoi(DSgused
C) (pp Cousmev aumbiy - D) ephusd

| [1301]

%,
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77.

78.

79.
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The Reserve Bank is more concerned with

A) - growth B) price stability

C) full employment D) output.

fiHureilss @ muRL Lemb gefly wHP vewThsefled ensCwsg G0
LT 1 (. U e cd(®. . :

A) Mot surudluler oy EBEN B) Udlrzw widHf
C) P sevwssi | D) B semwsafsn Qewei.
In India, rupees notes, other than one rupee notes, are signed by

A) The Governor of RBI

© B) The Prime Minister

C)  The Finance Minister | .
D) The Secretary of the Minister of Finance.. _

Clgmfied ﬁﬁgﬂmmuﬂﬁ geneusow Bmieusions eSenrigeug

A} RBI B}~ IDBI

C) IFC D) ICICL

The apex institution in the field of industrial finance is

A) RBI B) IDBI
c}  IFC D) ICICL
Spssrefitusupmien oifls Biemns senanwuisner Clengs ag ?
A} uewthd ' B}  euengGunemen

C} &nGenensv . D) a6 LgSlonuse.

Which of the following is the most liquid asset ?

A) Currency B) Draft

C) Cheque ' D) Debenture. ‘
Upsasdlgiaen srendl sreradt Cungieuns Beianp siwpsstuGEpE
A)  welley LD ~ B) sﬂ@l.‘.u_) Liwunib

C) SN EITLI LIETITLD D) simenenwol LeoTD.

: | A [ Turn over
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The currency notes in circulation are normally referred-to as

A) cheap money B} dear money
C) fiat money D)} near money.

80. wuemnb, YPESSEDHE@ GUIHD (WPETL] i Apouy Budysdr Qmss
Ceustar(pib.

A)  aeGoonmb ghmis ClEregnid Heenu

B} fsmeowne wHuIGH

C) BysEb sememio

D). &sL(GuudSHse.

Which of the following qualities of money is essential before it can perform any

of its functions ?

A) General acceptability ' . B)  Stability in value
C) Durability D) Controllability.
81. | G\am_‘ﬂ SIRIETG, Bl 56086 M BenL_(PemDUIUBSSIG!
A) Pidwu Aeie eurud - B @idw evCL curad)
C) ugpeny Creagemed euradl - = D) sewnm eumudl.

Open market operation is carried over by

A) RBI B) State Bank of India
C} PunjabNationalBank @+ D} Canara Bank.
82. QuamensssHen .............. o wpsdw wniE wdsdps).
A) &iCGsmemev _ B)  uemwb
C) euemrgene ' D) wmHm o emguwe.

B, plays a crucial role in an economy.

A}  Cheque | B) Money

C) Drafts D) Bills of Exchange.
83. IRClulélr yfiw Guwir -

A) IDBI ' B) IRBI

C) ICICI D) IDCL

(1501]
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The new name of IRCl is
A IDBI B) IRBI
Q) icICl D) IDCL
84. RBI uﬂaﬁ@;&g'd\lﬂ_ﬁ,y IDBI sruQungpg senenn spswrs wrdlug ?
A 1967 B 1970 |
- C) 1973 D) 1976.-

In which year was IDBI delinked from RB! and made an autonomous

corporation ?
A) ) 1967 - Bj 1870
¢ | 1973 D) 1976.
85. @ afldld @nd GCenpl b Reaouny gmwd&&ﬁu@ﬂgn@ ?
"A) eufllleln grasn B} eauflllenr Hlemeotiun(p
C) . sufluyn_ @gev D) Semeu semengHId.
“The:final resting point of a tax is called |
A) '" impact of a tax B) incidence of a tax
C) | shifting of a tax D) all of these.
86. mn@@ & Dashars gHu@SssliulL g
A) afl gy wHmID SN LSS s J— 2 TMLIZE0
B} | BSUNLED Fatl 1L_TETMIDMHWL JLITUISHEN
C) - Crryg sufl éﬁﬁ@ﬁgﬁﬁﬁ)snm BLAUGENEHEMET u;ﬂ;ﬁgﬁnu Qsliged
D} ) wep s euf éﬁﬁ@ﬁggﬂgbaﬁm BlLsugsamssenats ufibgiemrsse.
The ‘:Wanchoo Commitee was constituted to
A) | study the tax evasion and volume of .bla'ck money
B)~ | study ﬁscéi federalism

C) suggest measures to reform direct taxes

D)  suggest measures to reform indirect taxes,

. | [ Turn over
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87.

88.

_ 30

Qeeoen aufl, syenusfliing sufl whHnw Qeey afl gdwapep ullbgmrss
(C ,

A) el Gs. gy, ef. yrsu B B) anevLni G

C) Oedvemeown G " D) Beauppier agieblerme.

The committee which suggested wealth tax, gift tax and expenditure tax is

A) V. K. R. V. Rao Committee

B) Kaldor Committee

C) Chelliah committee

D) None of these.

Slereumeusneuppieh aps gern BHatanstanalsn om GHl&ECard sy@h ?
A} Sl @ cldssems aiFisfsse

B) e $3w ey Faps (pSefl_mL eaéGailS5e0

C) . Geuemeveumuliysemen sidlsfgse

Di Beney meamSFIb. -

Which one of the following is the objective of fiscal policy ?

A) - Increase rate of investment
B) Encourage socially optimal investment
Q) Increase employment opportunities

89,

0.

D) Al of these.

Bane afiaddduy em wasdwu HHWw amed gyEb

A) aglsﬂgge_gj)ug,gl B) oifefss aumeumi

¢ seflwni .;.,a,msuss (&HODSHE D) Beapmer agiesoame.
Taxation is an important fiscal instrurﬁent for |

A) increased production - B) ’ increased income

C) reducing private consumption D) | none of these. _
dlsraumn suflsaflet aigy wrbles Siresmre wL Gib AHseuB DS ?
A)  Gsaaflsens cufl ' B) Qaeveu sufl

C)  su(mnen eufl D) HBmeusor sufl.
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Which one of the _follow'mg taxes is levied by the state govemments anly ?

A) . Entertainment tax B] Wealth tax

C) Income tax D)  Corporation tax.
)ﬂﬂ_d&@@.@_@mnw@&@égq Yine Pudssnuid@ng

A) 2 pyampaer _ B) 5 gyeter(Dsen

C) 7 syt D) 10 gyem(pser.
Finence Commission is appointed after every

A)  2years B) 5years

C) . 7 years : D) 10 years.

Bdlé @peller éfHw GPl&Cansy

A)  Qgmfled euamiflsanen flFullwe ganLaenst HEHMIFZE
B) Geuerneler eusnhsdidanen BHuSlwen gml__asmér DI BHDI SV
C)  wsdw-wrfe Hi 2 pajad Qg iunataunemp SLImige
D) Beoa Hememsgibd.

The major objective of Finance Commission is

A}  to remove financial constraints for industrial development
B} to remove financial constraints for agricultural development
C) to consider matters concerned with Centre-State financial relations
D) | all of these. .

ugbm&&@mm BHunssd Pgemer ghuB i

A) Qun@mng‘,nq pLensessaflsh saemeu oiflefldEn

B} Gsdw eumaunenw oifleMdeEh

C) Cwrgss Coameuenw gSlafsEw

D) Qemeu Jemeangid.

Deficit ﬁﬁmcing results in

A)  increase in the level of economic activity

B) increase in the nétional income

C) increase in total demand

D) . all of these.

_ | Turn over
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94. SPpsacin sapHpiGENeT WS :
Pashen sguiuenL s @PlECarems Qansr@ e el oG ewdpg:
L swélsl S tuge m;bgu.b Crvaaense B HrBso |

. eupeumi wHHIb G\ammﬁﬂm apoSSnpaysHMS @mmﬁgsb
HL amuys vemgHen suerisfenws 5@5;0\)

IV. sirfisn sifamrsemg Hpiase.

Bepgyer :
A) v G sAwuneng B) 1& 11 sflwneneneu
C) 1,1 & Il sflwnsmeneu D) . mensgid sflureneneu.

Consider the following statements :
Taxes are collected by the Government with the basic objectives of
| [. Financing government plans and expenditure
~II.  Reducing inequalities in income and wealth
HI. Curb the grox'avth of black money -

IV. Establish the authority of government.

Of these :
A) 1 alone is correct B) I & Il are correct
C) I, 11 & 11l are correct D) All are correct.

95. sMeusy T, mn;f,]mn‘\ws@és@ Bis CrpressHpers wvraflw 2 gel
Siefsedips ‘

A)  empsL ugﬁsaﬂm YenGeanppsens ems@elsse

B) wnfleorusgnLen pOaymemeu Cuibud sz

C) w0 ghHpSSTPEYSHMEN (GENDSSED

D)  wueQeupy mmr‘r#ﬁg.ﬁl'_t_mamm QawsHLDSSSH LHIOID LYETTEDUL.

The Centre provides grants-in-aid to the State with a view to

A)  encourage development of rural areas
B) promote cordial relations with the States
C) reduce regional disparities

D} implement various development programmes and rehabilitation.
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96. £w$5dm_mm3ﬂm e Csflu s_cms E@QUULH‘Q}@ ag 7.

A) 61’60 p & uneSfaen B) . Bew_ane grss ug,élm&msh
o Ggeﬂu.v G&Lﬁ\uq LusSrraser D) eummuane eustigd 4.

Which- of the following is not viewed as national debt ? | |

A} LlC policies - B}  Long-term Govt. bonds

Cj Nat10na1 Savings Certificates D) Provident F\md

97. umsﬂ'&mgmg a.|_®uum__u}eo mmgﬁ@uug} eremLIg) Qgsvﬂdn (yagshmmunm '
uswﬂ

Ay ,@@&G\ﬁnshm&
B): &6l wpmub eughionens Qanenens
o ucmsﬁ]mm lansens
D) @mm SiTBSID.
Keeplng inflation in check is primarily a functxon of -
A) F1scal policy ' B) Wages & income policy
C) Monetary pohcy D)  All of these.
98. ;sni_qm (pgeL uppré@ampew &M ClELaug
A n._sh_[f,uL._@ Gy
B) aublﬁltu (psed _
' ). Gmﬂumu 2 puss @m;p&@ mngbpnb Qa‘lﬂﬁlﬂ
L @mm JiESHID.
A cogptry can meet its deficiency of capital through
A) ﬁ&htemal savings o
B foreign capital |
Cc)’ ,éiversion of savings to productive uses
b) ~ all of these. |
-’99 m@ﬁ%mr&:&aﬂm anég-@gnmas sTebMTey sTsiren 7
A)  Cadlw saumwrengig Harreng
. B) g_gcgs surey Clsevey
C)- ' _éuranmas-gﬂm AFT(H Qu(HLOTEND
D) 71@90‘ U (HEUTLIGEH.
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What is sum total of incomes ?

A) It is virtually the national income

'B)  Budget estimates

100.

101.

102.

103.

[3004]

C) Govt's anﬁua] revenue

D) Other revenues. .

i Swrnelley sflewer apPSMs HLOUUGSSINS

A} ara-Qewey s Qardiens  B) HHs Qandens

C) e pusdeaw slsfsse D) @eveu gemengFitd.
The rising prices can be checked in India by |

A) budgetary policy ~B)  monetary policy

C) increasing prodﬁction . D) all of these.

wrfler Hrdsht anoCoe erstim; sm‘rswﬂ#_;ésﬂu@tb suff) _

A) dpusnen eufl | _ . B) Qés‘om suf

C)  efeusrw eugmwres eufl . D) GCaaflsma sufl.
The tax described as Kamadhcnu of State government is

A) Sales tax | B)  Wealth tax

C) Agriculturc income tax D) Entertainment tax.

srebeun uflaEpd Spsam e aumbd

A ameand Pen eureysdr B} peSeT eura s

C) QungsaL e | D) @eupmyenr srlguaquﬂsbmso.

All taxes come under '

A) revenue receipts , B) capital receipts

C) . public debt | D) none of these. _
Lpssam_cupBed ebs qenp Hrfen upédwbnen CaBuL apeotb Beome 2
A)  euflser | -

B) Oung fipeueniuseflen o ufl
C). wrhmp Cegusggs
D) e ehpIl(® st whHgh G&Lﬂcn.; Cesfiy.

:
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Which one of the followiﬁg is not a major source of the Government saving ?
A) Taxes |

B) $urplus of public enterprises.

C)  Transfer payment

D)  Mobilisation of internal loans and deposits.

104. @pHun AGgme QuppSeimbs safdr HHs Qanirens GangsGu am

u®ADg ?

A) oife adn B) oife eum

0 - upprégop B D) ofls aukdl eigwd.
Since iqdcpendence, the fiscal policy of India has centered around
A)  more borrowings B)  higher taxation

C)  deficit financing D)  higher bank rate.

105. wgdw _:mmgub wrfle sresepsdat Cw aufl LRl Basn ﬁlﬂjj,g,jmuuﬁ]skr
Gufled CawwnuBGAng ? |

A) Sl seu B) Ggige gyememnuib
C} pPhamy D) Qurgs sews@sE .

The tax revenues are shared between the Centre and State governments based

on the recommendations of
A) Plénning Commission B) Election Commission
C) Finance Commission D)  Public Accounts Committee.

106, eréveon eflg eupueniaEhsG eSifsasuudn afl oCr dfswrs @b

. DiBeh Quwir ‘ :
A)  Gpiws eufl B) wenmps eufl
C) flgn&enny eufl D) enGenhp sulfl.

A taxation levied on all incomes in the same rate is called
A) Direct tax B) Indirect tax
C) . Proportional tax D) Progressive tax.

Iis_s";_l (3004 ] [ Turn over
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107. mmﬂaaim, Csmfled whpin Cousneo Qeuiged Bgy sufl eNfuiug I.D'If_)gjl.b- MG
C eu@eluug a1l ? :
A)  wrfieo e | B) s sire
C) wnfieo wHmIb wWHSW Te D) wonmarmld.
Taxes on trade, profession and employment are levied and collected by
A) the State Government
B) the Ceﬁtral Government
C) both State and Ce‘ntral Governments .
D) . corporation.-
108. susnmib Brpseflstt flHasQansiemsulish Gream® (péfw @H&Caneigen
| L ofle CGous Qur@mstngry susni&d |
II.  eflewey Bleweoru(D SIS
IL pep Géﬂs/m’s\) sumbiy

V. swfened e HCWrsD.

Qeu,gjg)jsir :
A) . 1& 1l sflwunenenen B) 1 & IlI eflwreneneu
C) 1 & IV eflwnestemeu . D) 18& IV sflwnessnsu.

The two main obiectives of fiscal policy in developing countries are
| I.  Rapid economic growth
II. Price stability
III. Full employment

IV. Equitable distribution.

Of these :
A) I & Il are correct B} II & IIl are correct
C) Il & IV are correct D) 18& IV are correct.

[3064] | | (3301]
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109. waphpy BHs5Csm1H s iyemwenes CHemeu WHMID ..covvevreeenen. Syafliiy.
A) Gg:éiuu UL |
B Geuaflprc.@u uemibs
C) QeuafimBn G Leim_tb
D) Qmaﬂmm_@u usﬁmuggn_sm SsriyenLu Cadlw vesrLib.
Exchange rates relate to demand and supply of
A) National currency
"B) Foreign money
C) Foreign goods
D)  National goods in relation to foreign goods.
110. GATT sty gappmiLivig SHDILS SETEHLIG SIS
Al sgswpo Curiigfleneo Bj flenmn @memmu Curlg
)  Gunti D) &ramGHe. )
- GATT considers export subsidies as ’
A) unfair competition | B) monoepolistic competition
.C)  competition | D}  exploitation.
111. sks euflsaflsh epeod Lwelr Gugeug
A} 05 B) misiGeuniser
C) eapil@® ephussunenisen D) (pseSL.L-nemisen.
A tariff brings gains to
A) Government B} Consumers
CJ Domestic produc:ers D}  Investors.

112. fay Cgflw pemsmwsmeary Gubns sHw ansnflub el _ssmqw Hape
sTEbTLIG)

A)  euneeflug et oeney
B} Rran® prseafllenBu Carapiw efened QpmHasDd
C) eAwnunry uarusaflstr anrenfly Clesvaser

D) e.@eunssuulL areflugslsr simey wHmib mnsmﬂug,é]mrrm eHul
nefor_hseflen eflensy whmrise.

'[ Turn over
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113.

114.

115.

Net national gains from trade is a measurable function of

A) volume of trade
B} rclative prices in two countries

C) factor costs of commoditics traded
D) velume of trade created and changc in prices caused by trade.

8@ BHrgst ghnind wHnb @nsEnd, Mammsafn gHUGD dssSe

feweneuns Caneipuib efemed Flepevenws ...c.eeveeeneene sa MR erCoibd.
A) - guyemd cQemev sl gib - B} eurewflu ez
¢  eunemflu gﬂugg,sﬁmam D)  penenw &g,

Ratio of a country’s export prices to its import prices is called

A) relative price ratio r B} trade ratio

- C) terms of trade - D}  benefit ratio.

Qeusfl euLny euenicdl GCrpradw Slomsaneg Spssau b
QgnLinfleii 2_siengy. 3jeneu ‘

A) Qeuefluuenwrer Qgmise

B)  semLwmm epeogen Gluwnsdl

C)  ustiem (B Hneusrugsen

D) Gewsoum_igenmed sHms Claneeug).

‘Qutward lookjng developmenf policies’ are not associated with

A) open system of communic.ations

B) free movement of cépitai |

C)_ multinational cn—te;'prise

D) learning by doing.

a;b@m,é,] Afleunsaid srebrgy

A) 2.aGrréadu 9..;_’551 ) B) GeusfiCrrsdlu o 58

C) B4l Cgn_funen e g : D) SirfAwed Qgsnufrunm 2 54

|
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Export promotion is a/an

A)

C)

STAT

inward looking strategy B) ocutward locking strategy

fiscal strategy D)  political strategy.

116. Qegssiflane swhleamed eretug)

A)
B)

C)

D)

(PpeOpWns ﬁnnmlﬂds&ﬂu@tb S4,6UETTLD
Qeuelt efleusny LRwIHDRST

are LHmIb CQseassT G (GBS
QLWL 1 (H&(ELD

Beve | SimenSGILD.

The balance of payment is

A)
B)
C)

D)

a systematic record
all the outside transactions are included
listing receipts and payments in a given period

all of t}le’lse.

aney  gemelled  udley

117. Qud)g,ﬂt'.@ Qrgysgiflency ClEnctenasdt sieigpid LSsssens apslueui

- A)

C}

B. J. Canasir : B) Gun Cenl el sh

J. H. gjleofr D} R pi&eiv.

The book “Bajance of Payments Policy” was written by

A)

<)

B. J. Cohen B}  Bo Sodersten

J. H. Adler ‘ D} R. Nurkse.

118, ustwienn B Qun(r_bmrrg,mrd) Spéacm_supiiiev arengl LhHl eSlensgAenmg ?

A
B)
.
D}

cuenfle Qardtens Ganl.unBser
siw eunesflua Carur@Bsen
SwET. G G\égzjggj Beneoaer
Beneu HEMETEHID.

[ Turn over



STAT

40

Which of the following topics does international economics deal ?

A)

119.

120.

[3604]

B)
C)

b}

The theory of commercial policy
The pure theory of trade
The balance of payments

All of these.

AUTARKY ;EG'WLJQGBI Qum(me

A)

B}

C)

D)

B Lr,rr@&@é.eﬁ!srr;I_GUJ GLn;r_i)Qammsmju@Lb cunessflub
wrhsensdlen. uled aunewfiuibsirenwy
S0 2_eten BrHsEHEH LG ,Lr,sﬁLQqulb surewflun

sunewfiu eveneo, gbleneafiey ainenflugSlenned soruw evensy,

AUTARKY is a state of

A)
B)
C)

bj

-

Trade between friendly nations
No trade between nations
Trade between neighbouring countries

No trade because no gain from trade.

Femtwbm eunswflun elBhutu@dns. gtierefis

A)
B)
C)

D)

O @mg)mﬁm CeusnevBlsmsvenw Cumblasteug)
2. 606 Br(Hsemen eunenflu Simenwasner HHafMuLig
sueTinh g BIRe6T Hifle iemay pemenwenw LMD

Beupmysh srguablevemso.

Free trade is favoured because

A)
B)
C)

D)

countries have less work to do
it leads to greater world efficiency
developed countries can get gain

none of these.



41 STAT
121. euenflasurg@ueoni SpssauLeuppien seng sflisgeni ? siemey.
A) gmL.m;bp cueflab
B) amgmgl ool
C)  @péoudowu s HUUDSEISH
D) BrOSs shssms QUBSESO.
In which one of the following would the rﬁercantilists have objected ?
A) F‘rée trade
B} Stirﬁulating exports
Q) Restricting imports
D} | Accumulation of gold by their nation.
122, gmt...u.s;bfrjig,uunm ueemt (B suremflugSled e husd wHmb malteuramg
A} eaunenflugGen® swwrs BmHes
B). enedlugengeli_ oflawis @mpsse
) msnf:;mﬂugmgcﬁlt_ (HODeuNs B Hbos
D] Qeaupgier aigie e, |
Free trade production and consumption in countries are
| A) the same as with trade
B) higher than with trade
C} lower than with trade
D) none of these, | |

123. 19 eugl SAHDNENged Lishienn (B eunesflugSlsh Bueiysens EipssaTaubryeT
gpsenms asmevnth

A} Qegysgflened sﬂgrﬁmaﬂﬁ) gﬁé’ls&r s(enwwner sl R Oun
B) gme wrewrw s efldgn B pepls obss)

C) . eunewflu genLsemen eflfeund@ged

D) e ueiiemi (B eunewflugdlen gyenellenen YoOPULGSSWS.

‘ | ‘ | { Turn ove.
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124.

125.

Iﬁtemationai trade during the _19th Century was characterised by

A) strict gﬁvemment regulatidn of most exchange rates .

B}  operation of the gold standard

C) extensive ba;rriers to trade

D}  government regulation of volum'e of international trade. !
usttenr_® eunenflu QUG pettenind Gamn Lt enL sugpr&.ﬂueuﬁ

A)  J.S. B ' B GuLeL RasniGLn

C) g eolflg | b) annfl sonsaes.

The theory of comparative advantage of international trade is mainly associated

with

A) J. 8. Mill B) David Ricardo

C} Adam Smith D) Harry Johnson. ' .

CLei AsariGLrellsn Ul Bé QFeeys Camnun® ( 1817 ) vweru@sSHu
wrdlf

A Bran® pr®, Dran® ek muéﬁﬂ ‘
B) Sren® npri, G UGTLLb M |

C) epery pr(D, Braw® uatr_wsst widlf

| D) Bemeu .Qmsmggjm. ' . s

David Ricardo explained the comparative cost theory in 1817, by using a

A) two-country, two-commodity model
B) two-country, one-commodity model
C) three-country, two-co'rrnmodity model

D)  none of these,

[3604] G561
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127,

43 STAT

dpssaim_suplesr e usteml®  enemflugdler H.O.  Carlunigss
a@Cansnaaflsd Cayrg ? ' |

A) va@ EHG\&qﬂd\) eefen o pusd smenflast epeugib
uwenuB SsLuBiE shmen

B) mi@ssflen _CGu geoLwhp eiremflub pen_Qupgy cumdlspg:

C} amewflsaflss QaremLsd pr@sepsdon_Cu CaumpuL Sanigwg;

D} Reupgish argiapfleérensv.

Which of the foliowing is not an assumption for H.QO. theory of international

trade ? '

A}  Factors of production are fully employed ix} both the countries

B)  There is a free trade between the countries |

C) Factor endowments of one country vary from those of the others

D) Pféne of these. |

_aimenw eunssflL oy Hfgd e wmb Quiwg Spses_ cSemenaser

Cgnshimyd

A) abpuwdsd siHsfaEb

B) e pusd sefiasilen sflflgn pr')gjmghﬁls:\) SifafNé&@E b

C)  (A) wpmb (B) Brem@Bd

D}

Bosouisarar uef B L hadr HflefaE.

The real terms of trade may rise as a result of a change in the

A)
B}
C)

128. Blar eunewllu wIHD RAsEPTD LaDEETD, HiGeh ellsnareuns

A)
B}
<)
D)

methods of producing exports
factors proportions used in exports
both (A) & (B)

method of producing import substitution.

surewflu o_evem_ssmaafled wrHob

appied whgib Boéews srsHo wiHpo
apmid whpd BpéGws el wiHmb
Qsﬁm SiNEESSID.
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The concept of net barter terms of trade ignoreé th;e impact of
A) cha,\;'lges in the composition of trade
B) changes in the quality of exports and imports
C) | changes in the level of exports and imports
D) all of these. , '
129. mistey BriLtb e GQersy Baein Qs fenu elenéEHng)
A)  misiey wHmb G&Lﬁmq B} mistey whpb udliey
C) pmsiey wHnib eu@HeuTl D) Qenea e gi.
The term ‘propensity to consume’ explains the relationship between
A} consuniption and saving B) consumption and distribution
Q) consumption and income" D)  all of these.
130. &eerflen Couemeveumiityi QungisGasnt_unlsoL Beucungy enmpeomb
A) Qsne Camaslanun(®m B) QsnE eumeumis Ganun@
C) Qsn e pusds Camun® D) Bemeu emenggib.
Keynes’ general theory of employment may be called as
A) theory of aggregate demand
B) theory of aggregate income
C) theory of aggregate output
D) all of these.
131. Setra RoH@ SLSTITEIOLIT
A) sl awrey-OQFoey S b
B) uwuppré@enm eurey-Glaee) S b
C) euflulme
D) GQsweupib auray-Gleoay Sl L.
Keynes advocated
A) balanced budget B}  deficit budget

C) surplus budget ' - D)  performance budget.



45 ' STAT

132. £mélsm sHSSIOUL Yemeumueufled @@mft Cgnemenwl Qungefiue gimflesi

133.

134.

135.

aws\) ?
Al iorite3ey ‘ _ B Jm
C) e gkleunig D) Ggg. sy afisen.

Accg%‘di'ng to Keynes which one of the following is not a classical economist ?
A) Marshall B) Pigou

C) Edgeworth D) J.R. Hicks.

Ggp. enb. Setrar Peiiounml &@mSLLL e |

A)  Qedlueny weemfieSiiueu |

B) siflemeu (pstremmdlefiiLeui

C) %_e(_rg yHw Qurmeflwed fleni

D} em Osnfled wis Qurr@srﬂu;:s'\a QI Enr.

J. M. Keynes is not regarded as a

‘A) prophet of boom B] prophet of doom

C} 'new economist D}  depression economist.

Cx. eub. e Haspphs wHmIb Blseayb &ﬁ&m&&@tﬂm Sbmrhnreien. &
Gaﬁ,r_r,g Qun@aﬂmm Siflept

A} uglQemimb grHmreirB B} ugllgrerugnh mrHoresid
C  @ousmns prHpreR D} ufGempmb prpHOTERE.

J. M. Kéyﬁes is one of the greatest and the maost controversial economists of
A)  Eighteenth century ) B) Ninetéenth century

C)  Twentieth century : D) Séventeenth century,

Gg oub. Estrer Bsemen o_(HheursHweui Sy éurk

A)  BeOu Qun@meTTSTTID

- B yfw Quugemgrd

C) sphereols Gu@MTSTD
D) ydHw Qgrenenwl lunmenngsird.

| [ Turn aver
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J. M. Keynes is the architect of
A) Welfare econormics Bj) New economics
C) Modern econormics 'D)  Neo-classical economics.
136. Ggg. eb. Sendstr (p&dlw le-L._L'lqﬁsh Bsemen Lérmu&é\mgsn@tb
A)  @iHul vewrd wHmb B
B) @mm@u‘ﬂs&r Qun@enngry eflensnaysmetr
C) uemgdlen Bynen @ Coriurid !
D) Qe emensHb. |
The important works of J. M. Keynes included
A).  Indian cuirency and finance
B}  The economic consequences of peace .
C) A treatise on money
D}  All of these.

137. “Betm_sreogsHed prns gemenaimd Pois AOCumb” asdrug BeaumenLw

ah.,t_bmrr@m
A)  Ggg. end. Setrer B}  gpe0uilpi naiinged
C) GueiL AsamGn ‘ D)  &miteL wideiv.

“In the long-run we are all déad" is the statement of

A) J. M. Keynes B,) Alfred Marshall

C) David Ricardo | D) Karl Marx. | ?
138. “Qgmfled Bmlinyliuemn ” siehm shHSS SeumhL-shr Qg,m_frqmt_u.l-gmgl.b

A) Ceili_ N&amGn B) é;,;..m sioflg

C} &ni6d onidkely D) BeuiiamgEmer aeumsiensy.

The concept of Industrial reserve army’ is associated with.

A) David Ricardo B) Adam Smith

C) Karl Marx - D} None of them.
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B)

C)

D)

47 ' STAT

139. snied wnisellslr &mSZILiLG eureflué spHAullst a1 L s

SJlneunen ELsugdens, ey, Bme e pusd, Houy weoen whHpb
Caasafleneo '

- SlENEUNE [BL g SN, Qagﬂuq, L&mas e phugd, Hmuy qpmm obitb

uesrel &b,

Sieeunen pLulgdens, Qsfiuy, Hea L;buﬁ,é] Smuy wemsn whpiw
Ustereum_tib

@mmmjsh s1g5164 Bledemev.

The phases of trade cycle accordmg to Karl Marx are

A)

B)
C)
D)

/Moderate activity, prosperity, overproduction, crisis and stagnation

Moderate activity, prosperity, overproduction, crisis and inflation
Moderate activity, prosperity,'overproduction, crisis and deflation

None of these,

140. AasnGinslish wHiuis Camun e

A)
B)
Q)
D)

snied wrhdely gbpus Glaretsrnt
&nie0 Wwridely FemgpLig Qewignl
Snied Thée GenD Faileni

Beupmyer aigia)bicbensv.

The Ricardian theory of value was

A
B)
0
D)

accepted by Karl Marx

rejected by Karl Marx

criticised by Karl Marx

none of these. .

141. Sereumeusmaupmie 615 wriderSw Qun@mugnu cgbu.lcﬂsm (y:sh@mu@eq Sp&D 7

A}
B)
¥
D)

[5004]

areveor LHLNHEL e.enPLBU ppedBREGD
2 enllien Qenbg wHiy smeflwurs suphsiu@Eng
e ufl wHuemu Waeonell aHsss CanarHpri

Bemeu emenSGibd.

[ Turn over
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Which of the following is the proposition of Ma&ian economic analysis ? .
A) Labour is the source of all values
B) Labour is paid in wages ité own value
C). The capitalist takes awajr the surplus value
D)  All of these. _
142. wrisedetr 2 ufl wHiiys Canur® @gsin SfguuenLulleonsmg)

A)  RéeaniCGLrellenr wHuys Cariur® wohmp iy wbLL  &nelld
Ganr_un®

B) AdamiGLrelsbr wHuys Cartur® whmibd @gj‘é];ﬂmsu 2 pusH Faedls

Garun® :
C) mnfm;sﬁ]sin wduys Cantur® whnib Neowiiy il emels Cariur®
D) Seupmier aigia|blerenso. |
Markian theory of surplus value is based on :
A) Ricardian theory of value and subsistence theory of wages
B) Ricardian theory of value and marginal productivity theory of wages
C) Marshall’s theéry of value and subsistence theory of wages
D) . None of these,
143. WQetreumeusmeupHmiet wredgedlelt (p&Fwlt uemL LI S0 TSH!
A) . wasablgiemnas Can_unigss Bsnen @ sl @enr
B)  oindwed Quigemgiys Camur@aen
Cl  swdwe Qurmengrrs CarurBise uhml
D) @mm OIS HID. - '
Which one of the following is not a main work of Malthus ?
A) An Essay on the Principle of Population
B)- ' Principles of Politicai Economy
C) On the Principle of Politic-Economy

D) All of these.
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144. “supjeniowb gisiup gmpssiigb gepsameasisgnésien BuhHenswne
. Bt enen” 16mé SaBlwieui
A b suiflg B} GLedl. AssmGn

C)  omruil wredZeiv D) Qeupmuet sraumbdledensy.

“Poverty and misery are the natural punishments for the poorer” is the
statement of

A)  'Adam Smith B) David Ricardo
C) R'ro_bert Malthus _ D) None of them.

145. waedgenslet Can_ut@amer Lnss G Curmeaflwene G  “gsmSlwed
P ePuied” aiend Fagdleusr ,

A)  wAfaPE B) Gg. 8. Gz
C) srfisneved ' D) . eaupmpieh seumBeoanen.

The economist who calied economics as a ‘dismal science’ after reading Malthus
is '

A) . Marshall B) -J.B.Say
C) Carlyle | D) None of them.
146. Gunmemgny Abgenen aurerdle HeupbUlsmeawweal aar enphastudibd
T Qungpeflwed oyflEnt(se)
A) LIS B) M&smGLnr
C)  whkged whpb AsariGn D} Beupmist aumilieoeney.
The:.‘ gconomist{s) who ils}are called as pessimist in the history of economic
thought is
A} Malthus B] Ricardo
C) Both Malthus and Ricardo D) None of them.

147. wasmOgrmamus sL.GUUESS WwILg Baameengs snpleni
A Cpienps seiser o
B) gefl ﬁuq5 SHEOL_&6HT
C) Criwenp wHnpib FelTLUS S _seh
D} eafliwempns SnL_66n.

@ [ Turn over
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148,

50

Malthus advocated which of ‘thg following to control population growth ?

A)
B}
<)
D)

Positive checks

Preventive checks
Both preventive and positive checks

Negative checks.

wrevgeilel 1&STOIGTNsE Carun® Baen JgliuemLulled Siemwhgsrearg

A)
B)

C) -

D)

149.

Gophsl CFed elaneaney sﬂé\
f&arirGL.relleby mlflrds Gasmun®
B8 Qpmlee Gesm'_un@
@m;bg)j&r srgjsmﬂsbms\).

The Malthusian theory of population is based on

A)
B)
Q)
D)

the law of diminishing returns

the Ricardian theory of rent

-

‘the theory of moral sentiments

none of these.

Bevgeng @@r&élmmggaﬂm n@r:um’rgg (_xps&r@m;o;glb apuLrsshH @GS

SN 6ouTLD

A)  Beosdlen Bsren Hov e Mepwwnsrfes Nigiy

B) Cuemspvwnen feosms 6ﬂL®$ Qasrr@dsas Gjr,lﬂ@tb cmhm fHlev
o_fRemwwnenfleir o550

C) flieunss seumiser

D) Beau semamsgib.

Consolidation of land holdings has not made the expected progress because of

A}

B)

<)

D}

land owners’ attachment to land
the fear of landlords to give up their superior lands
administrative lapses

ail of these,
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150. Geunemnetmenwenw epSrowrsGgs Gsame sngdunnemng

151.

152.

) eleusndagnsE s eupmalLT L g

.B)  Besms goudamanssg

C) s@glugmgﬁ vwetL(H s elaueniagpeg LIHA yaflssLul L g
D) usﬂ_ﬁmswrds smelaaflerr 2 pHusdeow HHeNssm.

Mechanis_atioﬁ of agriculture is made possible by

A) extension of credit to faz;,mers |

B) - consolidation of land holdings

C) training farmers in the use of machines

‘D)  increasing the production of farm equipment.

B Swrellslhr cusnivéd Geopss flevevssnan Cunmengrrs am:réumb

A) am;asmq. Beap@enmast B) supienwullet B&FEe eulLib
C) dgn@sb@u.u auﬂaq Beremo D) Qe SmemSFIb.
Eco.nomic. cause. of underdevelopment of India is

A}  Market imperfections B) Vicious circ1¢ of poverty

C)  Lack of technical knowledge D)  All of these.”

'@i},@umsﬁdr Afelenen sryemmons Crrqwrs urflésiucL Bran® Qufiw

Cigmpleomen
A) &mérsb wHpib umSHS Cznfles B)  shéseny whHob Grour
C) srégb whmb Amby - D) Qurdlwe whHpib AQwedo.

The two major industries that were directly hit by the partition of the country

were
A) Jute and Cotton textile B)] Sugar and Rubber
C}  Paperand Iron D) Engineering and Cement.

| F 638 , | } [ Turn over
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133.

154,

185.

SpHurefen Cofw m(r_r;eum;'.ié;@ Qu(mweelled unusaflliLy Qeweug

A)  CGeuennedsrenio Qmm- B) Qanr_teusitiigs ienn

C) Qsmfleogienn D) ard) wpmib emyss Ggmnpdoaer.
The largest contribution to the national income of India comes from

A) - Agriculture B) Railways

C) Industry D} Khadiand \fillage industries.

usemol Y Sullen srssn G e amrriu g

A) @ QansCLfled gflafss 2 Hussd

B) uulfAdu@ib urinfss sy

C) Shuursery urlSien ofsfoy

D) e.wk sﬁlmmaam susmasaflelr LutAL L@ vty Hafvy.
The impact -of Green Revolution was felt in

A) ifi‘:_érease\d yield per hectare

B) | increase in cropped area

C) increase in irrigated area

D) increase in the area of high yielding varieties.

ussmwL Yrldl s sempssuun ydw Gesemren o 541 Clgmmsiu L
N C) |

A 1947 B} 1951

C) 1965 D) 1974.
The new agricultural strategy called Green Revolution was initiated in the year
A) 1947 B) 1951

C) 1965 . _ D} 1974,
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Cousnrain  spemslBsme Cubu@ss BiHurdie ors CuopOarsiemb
psunsmassil genp

A) ﬂ%lﬁl@m sL_{H @60

B) 9@:&@,@551;9 eflhuiemen Qrﬂasmq.asmm SITDG T
C) erenLa6r wHpib asna;asdam STUUBES0

D) Pooeu Hemanggib. '

Which one of the following measures is undertaken by the government to

. improve agricultural marketing in India ?

A) Construction of warehouses

B) S;tﬁng thp of regulated markets

C) Standardising weights and measures

D) Al 61' these.

usemwL LUrLfég edrmen a@ﬁy&&aﬂ&@s&rﬂ

A) Gﬁﬂgjmm&{s wL B CFIL_fymLwgns o sramg

B) Ggqu,@g@gg fov LEHaEnsE LD GigriyemLwgrs o dvmg
) PesfiHmssnsd Qeumu@ssuumnoCaCy o e

D) Qusnu.lm e rusmet afitunids Semalled Lwstu@GSSTenwo.
One of the“criticisms agaiz_'nst Green Revolution is

A} it is confined mainly to wheat

B) it is; confined to select regions

C) land reforms remain unimplemented

D} consumption of fertilizers is not up to expectation.

ﬁle&rm@q;ggrm;bgjm g feosHlen cuanGeng LTZSHI&EGD (PeDWRSENE ?

A} uld sppd B) umeaamsl LBABG

C) sﬁi@g@mn;sﬁ Qaliged D) 8 LRGS0,

Which one of thé following is not a method for retaining the fertility of the soil ?
A) Crop rotation ' B) Multiple cropping

C) Seedl treatment : D) Single éropping. '

. . [ Turn over
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159. B zamen QubnCung Sigwnellesr - @Gemmeunsm Qurmenngmy
yenGenpmsHi s snyewd ' :
-~ A) é\weﬁ@s‘o sy euufl g6t . B) Qunmenigny sryewilsen
C) swas arrenflash D) Qmm DEOTSGIND.
Underdevelopment of Indian economy at the time of indpendence was due to
A) political factors B) economic factors |
C) social factors : | D)  all of these.

160. wIL.(B susimg &6 WHHb Qggl_ shlwneriisa @rew(Hin @@WG& asnsmuu@mgj

@Qpb@ TR SSISHN_L TG
A) @lrusm_u Cunmenrgrrn B) eops Rrleni & samiser
C) matuyp Srl s snmse D) Beupmst agiaybleoenen.

Coexistence of bullock carts and jet aeroplanes is an example of
A) dualistic economy . B) rural dualism
C) urban dualism D) none of these.

161. Semaupeussieubdmuer  iismg ﬂmm@mmaaﬂm @ (posdw  aumswLNS
Beoeorsg

A)  emenfisst b Cluwrmoed @@5,5-@
B) wmmr sepss sLsnwly
C) Shsng ﬂmm&&mmu Qﬁ)ﬂm Silwrenio
D) #puys Caied.
Which one of the following is not a major form of market imperfection ?
A) Factor immobility B) Rigid sociali structure
¢} Ignorance of market conditiops D}  Specialisation.
162. @pHurelhEu CUIELESTS SO @w%ﬁu
A) anmlﬂé,asuo.u.s_ir SUIRemHEIH GHnmeuns S6om 6uHeU M
B) @emeunen @phengadt @nuy eNlfgn
C) @meunsn anmg;sm oS8 g '
D) Csdw aumaunde Gempeuren Qgmfles siempullel ursefluy.

| |
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Which of the following féatures is not true of India ?
A) Lowez; per capita income as corhpared to U.S.A
B) Lower infant mortality rate |
C}  Lower rate of capital formation
D) Lower share of industrial sector in the national income.

163. glipasHe oL sen Bs wadw S0 Clummst

A) =0y B) &seanemmbLs &6
O é'ﬁﬂb D) @ene simerggitd.
The most important mineral found in Tamil Nadu is
A salt " B) limestone
C} gypsum . ' D) - all of these.
164 gtﬂ@mnmw s phaeoyulisn Benibd |
‘A) 998 &b B) 898 &S
C) 798 A8 ~ _ . D) Reaupped agieyfdamev.
" The coastal line of Tamil Nadu is
A)' 998 kms B) 898 kms
C) 798 kms D) none of these.
165. dl@gms\)ds@ Wharensdle sl L iuLTg Heneer BFieunEGb
.' A) & ueunefl B)  swormeud
C) sngsent | D) Guwr @t

Which one of the following dams has not been constructed in the post-
independence period ?

A) Lower Bhavani B) Amaravathi
C)  Sathanur _ D} Mettur.
166. i _Gan-aflebr flas pé&dlw Lewfl
| A) Qurgissiempuled ydlw Ggmflamen oS5
B} gsuﬂujtfrr QgmPled (tpenenCearnhisht snt B pwhHAsenen euerisse
C) maS]sua;)l_,r_k,g QamfleraEniE £ gaige
D} Q@emas ymasgib.

[@ ‘ [ Turn ‘over
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The most important function of TIDCO is
A)  setting up new industries in the public sector
B} promoting joint ventures with private entrepreneurs
C) assisting sick ﬁnits
D) all of these. .
167. AL Canelein (padlurs Lienf
4) el pulldong dipumear euflssLsh aupri@se
B) Vl.ogséliu SITdelr Pl ® mnﬂﬂwgmg DRgsefisser
C) slipuenen cuslamen eaflsgsed
D} @mﬁn SMENEHLD. |
The major function of SIDCO is
A) provision of interest-free sales téx loan
B) disbi.lrsgr.nenAt of central investment subsidy
C) provision of markgting facilities - )

D)  all of these.

168. Brliged (PBEH  (PHOONHE  JEBWESELUULL.  wmEle aqmsﬂmlrm HHuwed

Bmisuamb
A} & (TIC) B) ' AL Can
C) Ausm ' D) Qeaunhmet agiabene.

The first state level financial institution set up in the country is

A)  THC : B) SIDCO
C) SIPCOT D) None of these.
169. @ifwreled a5 mnﬂs\)g@s\) @pgdn (PBeSed u@g,él Qe peme
Bpeudiul L g ?
A @RS | B) wanynsigpignn
. C} gtﬂgmné D} ém@@ URISNENLD, ’

[3654] -
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In which state was India’s first Cotton textile mill established ?

+

A) G{ijarat B) Maharashtra
C) Tan'nI Nadu D) ° West Bengal.

170. ngﬂu.msﬁlso (ps6v Wemeny Bleneow b SIS BoeuoucLg ?
A) é]cu s@pSErd, sIETLSN
B) uérﬂr BRIGE), LIgHEFML
C). amus\) umengg,m@ widlw SrCsewd
D) glf@mng,l'r LISTeNSSHné (&, Gm,m@ SURIGNETLD.
India_s Qrst power station was commissioned at
A) .S‘l;ivasamudram, Karnataka
B) B_lil,akra—Néngal, Punjab
- C) - :C'Hl%‘ambal Valley, Madhya Pradesh -
D) ‘Dg;rnodar Valley, West Bengal. _
171. 1986 'si;irbs\ﬂmml.u,r_t,g, Qurgg gpemevaefish sictmenilsans
A) '-1,*;;0,000 _ B) 1,20,000
& 93,000 | D) 24,500.
The nu;j;)ber of sick industrial units in 1986 was around
A) 1, %o 000 " ‘ B) 1,20,000
o 93 000 D)  24,500. -
172. sfrdsasmlr apniws] ud en Shonefluiug
A) |.b§5§lu.| SIT& - B) wrflev jrs
C) El'fﬁﬁmi]' ad,mso ' D) uénsmrn'_@ FhESNT JEHIDLILY.
Export quota for sugar is determined by -
A) t.hgé Central Government
B)l ' _ﬂ\e State Government
C) the Sugar industry

D) the International Sugar organisation.

' . : [ Turn over
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173. @pdwreled ey yweoler sfsuugunen  Ggmnfleoneiset  Ceusmed
unigdlepent ?

A)  shsseny , B} QEpsey
C) &emred : D) | Bmby wHnIb 615,
Maximum numbér of woricers are employed in which industry in India ?
A)  Sugar - B) Textiles
C) - Jute ' m'imanSma
174. (g6 21 Zemew ahs wiflesse QusiSsimpwre Ameuiu’ L g ?
A) e%ﬁéhtﬂuGgém ' B) Sanr '
C)  ugpsnL ' D) | e 585 SlrGsewb.
" The first fertilizer factqry setup in the public séctor is located in the state of
A) Andhra Prédesh B! Bihar -
C) Punjab ' © D)  Uttar Pradesh.
175. @idunellss  Qgremevsn 4 (Barrgms‘w QLLLIG  &hs  eu@LLD
SLTDNSSOUC L & 7 ' '
A) 1956 B) 1959
) 1960 ' D) 1958,
Television was started in India on an experirflenta] basis in
A) 1956 B) 1959
C) 1960 D) 1958.
176. Bustwr_neug: pbsren® S sdlstr péFw susniEAu Lewfl 4
A)  SiguuenL. whpib sers Clgmflsomet
B) &id) whmb eosssd Cgnfser
Q)  Appmess Asmficose

D}  8f ursenp m;fjmub Geuchen sL_Hraun(.

- [@een
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The' majg emphasis in the Second Five-Year Plan was on the development of

A)  basic and heavy industries

B) khadi and handloom industries

C). émall scale industry

D}  irrigation and flood control.
177. 1956 Gigmfied Clancnensulich Wadw uflipgeny

-A)  Quagisgienp

B)  geflurt genp

C) Qurgisgimpub, Qadipn BGig gepud sripg Bmsse

D} seflwnt genpuw G']ungjg Siewpuib snitg Bmsse.

The Industrial Policy Resolution ( 1956 ) stressed the significance of the

A} Public sector

B) Private sector

C) Mutual dependence between the public and foreign sectors

D} Mutual dependence between the private and the public sectors.
178. enpp wrfleogder uguy Hoss sifswrs dens8pg ?

A)  sbppre B)  gnggeiigmebr

C) by & sneiyli D) GrUrs.
Which-of the following states has the longest reserves of lignite ?
A) 'I‘g_gﬁl Nadu . , B} Rajasthan

C) Jammu & Kashmir D) Gujarat.

179. senenyeiv Clgmficaefler imdwena

' A)  sefllefisen B) e u?flwe Ggmflsopiuib
c Qéfummg Qm_inyaei D) fema: b
Sunrise industries inélude
'A)  Compuiters B) Biotechnology

C)  Telecommunications D)  All of these.

: | , [ Turn over
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180. Clansflen . apflafiiy Hpeuemd aps PpomsgL s  Haemsatu

e_sheng) ?
A) BPCL B} HPCL
C) 10C : D) ONGC.

Kochin Refineries Ltd. would be merged with which company ?
A) BPCL A B) HPCL
C) 1locC D) ONGC.
181. @ifw Cgnfisvaaiiss Phs Asscdas gflawrs GG
A} Csemeu empey
B} Bewenrrb ubhmrd@Genn
C) eenpuuraflsefieh genwdudsnenwo
D} Quné@Earss: Gepurser.
Indian industries have beeﬁ suffering because
A) * decrease in demand B) power shortage
C) labour unrest D) - transportation bottlenecks.
182, giflsenay sietreflu GlFaneusnfl mlinssmd igrifled
A)  sewmed Qgmfled B) e&h&sany Cigmfle
C) &AQwew Qznfle ' D) umsd Gsmfle.
Which is the largest foreign exchange earner industry ?
A) Jute industry - B) Sugar industry
C) Cement industry p D) Cotton 'indlllstry.

183. @by wope a5@ Qsnbigisa wedw Wrssmenuns LpssawLabEIN
AUl DU Hevengs ?

A) @mnhs CsnfdopL b B) &l ifeveonemw
C)  sifs Czeneu ' D) s uemt (p5eSH.

-4
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Wh‘liCh is the major problem in the iron and steel iﬁdustry among the foiloﬁring ?
A) Low technology B) Lack of planning
Cj High demand ' D}  Heavy capital investment.
184. Bidlu FemTed HPHID JEDWLESIUL L QHLLD
A) 1861 " B} 1971
C) 1981 | , D) 1991.
The Jute (?orporation ‘61' India was set up in
A) 1961 B) 1971
C) 1981 D) 1991.
185. @laens whHpHid fpQgmfsoseflsh uenflash aflwwnas '5@§GQL. ENTEwTD
| A} Caflu aumuren uflieme Lyg AFTHT T3 |
B) . wpevgen HlyA&@ 2 56,560
C) - Geausmevsunuitiy Clanr(&aed
D) ' @mm S{EOE GG,
Thei.;ole of cottage and small s'ca.le industries is important bécause
| A) iitensures national‘ income distribution
Bl ‘it helps in capital formation
C} it provides employment
D)  all of these.
186. 1982 guedw(® CART giemwsstiul L. Crréswn
A Bs QunmSsIones awmﬂé&s&anﬁr CuhHo sreTEnsed
B) -Sne‘omml_ whsGIauiaeneE LEHA eflgzsed
T ) SIOFEVL Uy Eenen ea s 1L SHIS0
| ‘D'}' -erjrm.o qu@d}#aﬂdﬂ Cgnfieom L uu_lsinum'_‘mt_ m&»@aﬁlgg;'\).

- T _ ‘ [ Turn over
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187.

188.

CART was.sct up in 1982 to

- A) promole ample research

B) provide training to velerinary doclors
C) improve the bullock cart |

D) improve technologr:df rural industries.
Qi sens@ wadw B o gl o
A} uligadt wHRID sk ug,ﬁvmésir :
B) endl an..s&ra;sﬁ

C) Qung smeuliast

D) qusrﬂ;snz.'.@ 2 gefl,

The major source of finance to industries is

A) ~ share and debentures

| B} bank loans

Q) public deposits
D) foreign aid.
B b wHmID 6T Q@Mfled aebrug @

A) giememrwnen Qgnificoaeh B)
- C)  Pegrs Qgmfle D)

Iron and steel industry is

A}  auxiliary industry B)

C) light industry DJ.

A) 1981 . B
c) 2001 ' : D)

gl Ggnflsoaer
BeupmieT argia|fleveney.

basic infrastructure industry

none of these.

. gusu-6nGwredn sueniFd wrdf suClunups SINPasLIUGSSIUC LG ?

1991

1990.

When was the Rao-Manmohan model of development introduced ?

A) 1981 _ B)
C) 2001 D)

|

1991
1990.

&
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190. @pHw HiiL b srerig

191.

192.

A)  sreundlarmd fleopbas
B) - menpmlsh SenniLsE el UL LGl

' C).. * (Ppupsugih owwiuBiSsULLL g

D} @eauppuet sigiaySeoeneo.
Indian planning is
A) totalitarian in nature

B) . democratic in nature
k]

' C) totally centralised

D)  none of these.

opmeugl L WSHWTTZ ...oooreeeeneaens e 55150 Rmbss!.
A) CeaearangionpsE bLGCL HHs YeEEwsHaDd

B)  eeway, Caumen whHpib e Husd Smen

Q LISHI(LpS an@ﬁgmm cueTiEs} L (Hib

D) @opbsuis Comeaug Sl b,

The Sevenfh Plan strategy waé built around

A) Greatest eiﬁphasis on agriculture only

- B) -, Food, work and productivity

C) Rapid growth of industry only
D}  Minimum Needs Programme.
S rsgnssnen B wadwwren e aiprl B Bdureng

L A) e eTErC_ B Cablly B) - Papare e ufl aumeumd

C) Qungs sLsr . D) Seneu senanSsih.
The most importanf domestic source of financing for plans is
A)  Domestic saving B)  Surplus from current revenues

C)  Public loans ' D}  All of these.

[3004] - ' ' | ' { Tumn over
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193. wareorGrriev LA aimisNsaran sfla omea) PsHwsgiab afss .QJG/B‘UD
A)  eSleusFmuib
B) seame Qsnfheremevssr -
C) e&d
D) oifleflwed whgpb Qgrleomi L.
‘Mahalanobis model laid great eniphﬁsis on the development of
A) Agriculture B) Heavy industries .
'C) Energy | D}  Science and Technology.

194. ‘fleneownen euenisdl whpb swé sriyL e snigu amisdd Crradw sngenenaen
stsueney (p&Hw Crréswnssd Csname S b o

A} Bueirineug phsneitHé S b
B)  epspreugs pisieBis Sib
C) prensrug mbsrean®d S
D) pbsreus mbsnaHs S ib.

‘Growth with Stability’ and ‘Progressive achievement of self-reliance’ were the
basic objectives of

A) Second Five-Year Plan
B) Third Five-Year Plan
C) Fourth Five-Year Plan
D)  Fifth Five-Year Plan. _
195. mpsraug pEsTaE®HS SiLib cusmrw (PH& Blemer sflsamamu gunfisseul
A)  C.stnfirosmiun B) K.C.HCwnd, '
C)  V.K.R.V.gre D) D.P. gnh.
The original approach paper of the Fifth Five-Year Plan was prepared under
A} C. Subramaniam B) K. C. Neyogi

C) V.K. R V.Rao Dj D. P. Dhar.

f300a] - [1301}
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196. bprem® HLib eenLig)

A) ;:;:;ﬂm &160% S ib B)
C) @%ﬂﬂw anevg i 1b D)
A Five-Y:ar Plan is a

Aj ‘Meédium term plan Bj
C) Sﬁ;rt-term plan D)

STAT

QpetrGommadu HiLib

‘Beuppien arguaylevene,

Perspective plan

None of these.

197,?8,;;;@51_ ghoramB Sl msefl, asdil phe  eflousmu e puss

©oppdopeg ?
A) @ﬁmguma S B)
) prenancugy S D)

ok

epehiprsugl S_Lib
mbgreug) i . |

’ e B
In which of the plans, India’s growth of agricultural production was negative ?

- "A) Second Plan E)

H

C) F‘éunh Plan D}

Third Plan

Fifth Plan.

198. Q&Qyﬁmmu upPw Lpsacu_ sappsaiics sflunameng Cgpire :

A)  1891- 1921 —_
B) . 1921-1951 —
C)  1951-1981 —

D) aeveun sappuaEsd shwraGs.

Cas waaMOBTMS
fleneowinen euerisd

enghs e wi eusniéH

Which pf ‘the following is correct regarding India ?

A)  1891-1921  —
B)  1921-1951 —
C) 1951-1981 _

D}  All these are correct.

Stagnant population.
Steady growth

Rapid and high growth

[ Turn over
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199. et meug S HHlle e sifle soay paisaiu L ( 26.6% ) giepuineng,

A)  &&d Zemm

B) Curs@eairss whmib Ssaued Qgriny

C)  sflefwed wHmb Qsreom Lib

D) @mg‘)gjsh -agjaq Blebenev.

The highest allocation of rescurces ir} Eighth Plan ( 26-6% ) went to

A) Energy sector

Q) Science and Technology

B) Transport and Communication

D) ° None of these.

200. ufGennrroug PhSrANHS H-Lib CQewOLGDL D

A)  2007-2012

C)  2001-2006

B) 2005-2010

D) BDeupgueh argueyiblsbensy.

Eleventh Five-Year Plan period covers

A} 2007-2012

C}  2001-2006 -

B) - 2005-2010 ;

D) None of these.
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response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. ' In the Answer Sheéet there are four brackets [ A] [ B ]| C ] and [ D | against each question. To
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"9, You should not remove or tear off any shect from this'Qucstion Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
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10.  Failure to comply with any of the above instructions will render you liable to such action or penaity
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